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Part 1 Listening
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Section A
Directions : In this section, you will hear 10 short conversations. At the end of each
conversation, a question will be asked about what was said. Both the conversation
and the question will be spoken only once. After each question there will be a pause,
during the pause, you must read the four choices marked A. , B. , C. and D. , and
decide which is the best answer. Then mark the corresponding letter on the Answer
Sheet with a single line through the centre.
Example: You will hear;

You will read;

A. 2 hours.

B. 3 hours.

C. 4 hours.

D. 5 hours.

From the conversation we know that the two are talking about some work they
will start at 9 o’ clock in the morning, and have to finish at 2 in the afternoon.
Therefore, D. “5 hours” is the correct answer. You should choose D. on. the. An-
swer Sheet and mark it with a sihgle line through the: centre
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Sample Answer AT [B] [C] [D

. It would be better 10 say nothing to Paul.

. Paul himself will come to them.

The man should be the one to speak to Paul.

The man should replace the radio before she talks to Paul.

- Tricks will be sold there.

. Som;thing will be constructed.

. A lot of machinery will be cleaned.

. The land will be used for farm animals.

. In the librafy.

In the college bookstore.

At a newsstand.

. At a department store.

The woman will arrive at the restaurant only ten minutes late.
The woman has ten minutes 1o get to the restaurant.

The man thinks he will be able to reach the restaurant in ten minutes.

. The man thinks he will not be able to drive quickly to the restaurant.
. Betty will probably have the answer.

Betty is the one who made the error.

They shouldn’ t tell Betty about the mistake.
They don’ t think Betty will take it.

He doesn’ t like messy people.

Lie doesn’ t know where their house is.

He sees no need to clean the house.

. He can think of no worse time for their friends to come.

. Extremely anxious.

Not as nervous as he expected.

Angry at the professor.

Very relaxed. v

To keep his feel warm.

To protect his carpet. : : : S
To avoid trippingion the carpet.




To keep his shoes from wearing out.
He wants ancther piece.
He’ d like to try another kind.

He has four more pies like it at home.

20 % > 2

He wants some help making it.
10. A. The knapsack is of very good quality.

B. She wants to learn how to do it.

C. The man’ s preparations were quite good.

D. The man may need a new knapsack.
Section B
Directions ; In this section, you will hear 3 short passages. At the end of each pas-
sage you will hear some questions. Both of the passage and the questions will be spo-
ken only once. After you hear a question, you must choose the best answer from the
four choices marked A. | B. |, C. and D. Then mark the corresponding letter on the
Answer Sheet with a single line through the centre.

Passage One

{ Questionst | to 13 are based on the passage you have just heard, ]

11. A. How the sun evolved.

The structure of the Sun.

Why scientists study the Sun.

. The distance of the sun from the planets.
12. A. magnify the image of the Sun.

block out the Sun’s intense light.

O ® PP OR

measure the amount of energy emitted by the Sun.
photograph the Sun.

The remaining layers of the Sun.

The evolution of the Sun 1o its present form.

The eclipse of February 1979.

v oo T

. The scientists who study astronomy

Passage Two

Questionsl4 to 16 are based on the passage you have just heard. ]




14.

16.
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To emphasize the importance of mental process is calculations.

To explain why some elementary computing systems were not developed
until the 15th century.

To describe holw ancient counting system differ from those of the 20th cen-

tury.

. To compare the mental and physical processes used in arithmatic.

memoring numerical combinations.
using an adding machine
producing large quantities of a writing medium

converting number symbols to higher units.

. 'Physical difficulties hindered the development of computer.

Memoring addition and multiplication tables is necessary for most elemen-
tary arithmatic processes.

Most people experience mental difficulties in learning long dicisions and
multiplications.

Numeral systems invented before the 15th century could not have been
used to perform elementary calculation.

Passage Three

’ Questions17 10 20 aré based on the passage you have just heard.

17.

18.

19.

The techniques of a photographer

SO F P ORETOW

The advantages of studio photography

Industrial construction sites

. An architect who appreciates fine art

They are part of the camera.
Kasten uses them as subjects.

The crew needs them

. Photography nirrors life

To plan the photograph

To purchase film and equipment

. To hire a crew

. To test the lights.




. She does not use lights out doors.
Her work outdoors is more unpredictable.

She works alone outdoors.

SO >

She makes more money form her work outdoors.

S

Part 1 Readmg Comprehensi n

Directions . There are four reading passages in this part. Each passage is followed
by some questions or unfinished statements. For each of them there are four choices
marked A. , B. , C. and D. You should decide on the best choice and mark the cor-
responding letter on the Answer Sheet with a single line through the centre.

Passage One

Each fall, billions of green leaves explode into a mosaic of reds yellows and
browns. This transformation reflects a number of complex chemical processes. The
autumnal color changes resulis foom a breakdown of chlorophyll the green sub-
stance in leaves. The breakdown of chlorophyll occurs when the proteins to which
chlorophyll molecules are attached break down into amino acids. When the protein
breaks down into amino acids, the chlorophyll disintegrates thereby losing its green
color. The amino acids resulting from the breakup of the proteins are transported
through tiny “sieve tubes” into the stems and roots where their nitrogen is con-
served for use in the next season.

Healthy chlorophyll absorbs light of colors other than green, which is reflec-
ted. Hence leaves appear green. Once the chlorophyll breaks down, however the
intrinsic yellow or brown color of the remaining leaf tissue appears. Even in sum-
mer months there is a partial breakdown of chlorophyll as it performs its photosyn-
thetic role in sunlight but it is restored during the night. Consequently, leaves are
imperceptibly greener in the moming than at sundown.

Notwithstanding their-understanding of the process botanists have not yet dis-
covered wnat event or factor or cause initiates the color changes in autumn leaves.
Cool weather desiccation long nights, and some inborn timer are all speculations.
2L. The passage is mainly concerned with describing

A. the process of photosynthesis
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B. how leaves change color
C. the role of chlorophyll in photosynthesis
D. gaseous nitrates in our atmosphere
22. It can be inferred that proteins help maintain the green color of a leaf by
A. producing new growth
B. holding chlorophyll molecules
H C. breaking up into amino acids
D. gathering nitrogen from the air
23. The word“conserved” in line 8 is closest in meaning to
A. destroyed B. grown C. stored D. misplaced
24. According to the passage photosynthesis
A. involves chlorophyll
i B. occurs only at night
C. causes leaves to change coloss in autumn
D. might be caused by cool weather or long nights
25. Which of the following CANNOT be answered on the basis of the information
in the passage?
A. Chlorophyll does not abserb what color of light?
B. Leaves deprived of chlorophyll are what color?
C. What chemicals give leaf tissue it red and yellow coloring?

D. Can plants store nutrogen for future use?

Passage Two

In considering that galaxy of women who are Southem writers—Eudora Wetly,
Katherine Anne Porter, Flannery O’ Connor, and Caroline Gorton, to name but a
few—it become evident that there genius is the product of a special social phenom-
enon. Critics and historians have réemarked more than once that tale-telling is a re-
gional trail of the South. It began to flourish wherever people gathered to gossip—
-on the steps of the country store at racetrakes, in taverns and saloons, or in more
formal drawing rooms. Men gossiped and' exchanged rumors while whittling bits of
wood or while squatting in the shade to get acquainted with strangers. Along with

" Sunday sermons and the arguments and rampaging satirical abuse of political cam-

£y
"* * paigns, such tale-telling has become a part of Southern literature, .. - -




But there is also another special kind of conversational flow among Southern
women that contributed to their writing. Some of their talk took the form of 1ales
and vigneties told for their own sake. Sometimes humorous, sometimes sad, all
were as bright as the figures in fine needlepoint. These tales included grotesque,
comic, and poetic description, character skelches, narratives, gusts of feeling,
delicate ironies, and astute observations.

26. Which of the following is the best title for the passage?

A. Class Differences in Southern Language Dialects.

B. The Development of the Southern Short Story.

C. The Formal Education of Southern Writers.

D. Social influences on Southern Women Writers.

27. Which group of writers does the author claim to describe?

A. All Southern writers’ both male and female.

B. A large number of Southern women writers.

€. Only those Southern writers who are named.

D. Only Southern writers of previous generations.

28. According to the .passage which of the following is the most common source of
recreation for Southerners?

A. Meeting Outsiders. B. Whittling wood.

C. Telling stories. D. Racing horses.

29. Which of the following activities is NOT mentioned by the author in connection
with Southern tradition?

A. Child-rearing B. Churchgoing

C. Formal gatherings. D. Political meetings.

30. Which of the following statements best describes the author’ s view of the role
gossip played in Southemn literature?

A. Gossip was never exchanged in public.

B. Gossip gave rise to a unique kind of literary genius

C. The best gossip was based on everyday occurrences

D. Most gossip revealed the social class of the tale-teller

Passage Three

One-room schools are part of the heritage of the United States, and the men-
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tion of them makes people feel a vague longing for “the way things were. " One-
room schools are an endangered species, however. For more than a hundred years,
one-room schools have heen systematically shut down and their students sent away
1o centralized schools. As recently as 1930 there were 149,000 one-room schools
in the United Siates. By 1970 there were 1,800. Today, of the nearly 800 remai-
ning one-room schools, more than 350 are in Nebraska. The rest are scattered
through a few other states that have on their road maps wide-open spaces between
towns.
Now that there are hardly any left, educators are beginning to think that may-
be there is something yet to be learned from one-room schools, something that
served the pioneers that might serve as well today. Progressive educators have
come up with progressive-sounding names like * peer-group teaching” and “ multi-
age grouping” for educational procedures that oceur naturally in the one-room
school. In a one-room school the children teach each other because the teacher is
busy part of the time teaching someone else. A fourth grader can work at a fifth-
grade level in math and a third-grade level in English without the stigma associated
with being left back or the pressures of being skipped ahead. A youngster with a
learning disability can find his or her own level without being separated from the
other pupils. In larger urban and suburban schools today, this is called “ mainstre-
aming. ” A few hours in a small school that has only one classroom and it becomes
clear why so many parents feel that one of the advantages of living in Nebraska is
that their children have to go to a one-roon school.
34, What is the author’ s main purpose in the passage?

A. To discuss present-day education in the United States.

B. To mention some advantages of one-room schools.

C. To persuade states to close down one-room schools.

D. To summarize the history of education in the United States.
32. The author implies that many educators and parents today feel that one-room
schools '

A. are 100 small

B. put pressure on teachers

‘3“ - C. sre too far appast’




D. provide a good education
33. According to the passage, why are one-room schools in danger of disappea-

ring?

A. They skip too many children ahead.

B. There are no fouth-grade levels in any of them.

C. There is a trend toward centralization.

D. They all exist in one state.

34. In the second paragraph, what is mentioned as a major characteristic of the
one-room school system?

A. It causes many children to be left back.

B. It must work in conjunction with an urban school.

C. Tt does not allow teachers to do any individual teaching.

D. It does not limit learning to one grade level at a time.

35. The attitude of the author toward one-room schools is one of
A. humor B. indifference  C. commendation D. anger
Passage Four

When did sport begin? If spori is in essence play, the claim might be made ‘
that sport is much older than humankind for, as we all have observed the beaslsv
play. Dogs and cats wrestle and play ball games. Fishes and birds dance. The
apes have simple, pleasurable games. Frolicking infants school children playing
tag and adult arm wrestlers are demonstrating strong, transgenerational and trans-
species bonds with the universe of animals—past, present and future. Young ani-
mals particularly tumble, chase, run, wrestle, mock, imitate, and laugh (or so it
seems) to the point of delighted exhaustion. Their play, and ours, appears to
serve no other purpose than to give pleasure to the players, and apparently, to re-
move us temporarily from the anguish of life in earnest.

Some philosophers have claimed that our playfulness is the most noble part of
our basic nature. In their generous conceptions, play harmlessly and experimental-
ly permits us to put our creative forces, fantasy, and imagination into action. Play
is release from the tedious battles against scarcity and decline which are the inces-

sant, and inevitable tragedies of life. This is a grand ct;nceptfon that excites and

provokes. ‘The holders of this view claim that the-origins of our highest aceomplish-
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ments—liturgy, literature, and law—can be traced to a play impulse which, para-
doxically, we see most purely enjoyed by young beasts and children. Our sports,
i in this rather happy, nonfatalistic view of human nature, are most splendid crea-
tions of the nondatable, transspecies play impulse.

36. What is the best 'title for the passage?

A. Games for Animals

B. The Origins and Meaning of Play

C. A Playful View of Modern Philosophy

D. The Role of Sport in Child Development

.

37. It seems to the author that young animals play in order to _

A. gain pleasure
B. learn specific behavior patterns
C. delight their owners
D. exercise their growing muscles
i 38. One may infer from the passage that playing is important to adults because it
‘ helps them _
A. understand their children
B. interact more with animals and nature
C. channel their creativity
D. improve their physical strength
39. The word“noble” in'line [ could best be replaced by which of the following?
A. snobbish B. wealthy C. royal D. admirable
40. Which of the following conclusions about sports could best be drawn from the
passage?
A. They gradually evolved from play.
B. They prepare children for conflict in life.
C. They are becoming more popular among adults.
D. They developed from conflicting impulses.
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